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kg mg-TEQ
( (
1 1 0 1 0 0 1 1 0 1 0 0 0 0 0 370 0 370 370 1 1,900
3- -3,5,5
27 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 3,000
4,47
1- -2,3-
30 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 10,000
40 17 17 0 0 0 17 2 0 2 112 0 0 0 112 1,870 0 1,870 1,982 17 429,100
43 5 1 1 0 0 2 5 1 6 4 4 0 0 8 9,434 52 9,486 9,494 5 13,300
45 1 1 1 0 0 2 1 0 1 28 14 0 0 42 1,400 0 1,400 1,442 1 2,900
63 19 18 0 0 0 18 2 0 2 915 0 0 0 915 2,700 0 2,700 3,615 19 1,801,600
159 1 1 1 0 0 2 1 0 1 0 0 0 0 1 41 0 41 42 1 2,700
172|N,N- 1 1 1 0 0 2 1 0 1 23 14 0 0 37 150 0 150 187 1 2,300
179 2 2 0 0 0 2 1 0 1 10 0 0 0 10 4 0 4 14 0 0
200 1 1 0 0 0 1 1 0 1 400 0 0 0 400 2,000 0 2,000 2,400 1 4,500
206 1 0 0 0 0 0 1 0 1 0 0 0 0 0 40,000 0 40,000 40,000 1 78,000
224/1,3,5- 14 13 0 0 0 13 1 0 1 3 0 0 0 3 22 0 22 25 14 58,800
227 21 20 0 0 0 20 3 0 3 27,428 0 0 0 27,428 3,210 0 3,210 30,638 21 3,438,200
230 2 1 0 0 0 1 2 0 2 1 0 0 0 1 323 0 323 324 2 2,500
259 1 1 0 0 0 1 1 0 1 0 0 0 0 0 0 0 0 1 1 3,100
269 -n- 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1,800
270 -n- 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1,900
283 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0 1 1,700
297 1 1 0 0 0 1 1 0 1 1 0 0 0 1 2 0 2 3 1 9,800
299 15 15 0 0 0 15 0 0 0 175 0 0 0 175 0 0 0 175 15 171,800
304 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1,800 0 1,800 1,800 1 13,000
):
12 15
307 2 1 0 0 0 1 2 1 3 0 0 0 0 0 125 100 225 225 2 16,400
( )=
309 1 0 0 0 0 0 0 1 1 0 0 0 0 0 0 1,600 1,600 1,600 1 1,600
310 1 1 0 0 0 1 1 0 1 2 0 0 0 2 1 0 1 3 1 7,300
311 1 0 1 0 0 1 1 0 1 0 0 0 0 0 2,500 0 2,500 2,500 1 2,500
320 1 0 0 0 0 0 1 0 1 0 0 0 0 0 19,000 0 19,000 19,000 1 160,000
-1 . 3- =
m_
338 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 40,000
116, 95 6 0 0 101 31 3 34 29,092 33 0 0 29,125 84,948 1,752 86,700 115,824 114 6,279,700
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